1.

2x+2)2+ (x+2)Bx=1) - Bx-1)2 = —(ax + b)(cx +d) & T,
ab + cd ©] & F3H? (H a, ¢ = FF)

@-1 @3 ® 0 @ 2 ® -2

~&B

x+2=A, 3x—1=BE *|&olH
2A2 +AB-B?>= (2A-B)(A+B)
=(2x+4-3x+1)(x+2+3x-1)
—(x—=5)(4x+1)
cab+cd=1x(=5)+4x1=-1




2.

@’ -b* = (a-b)(a+b) & BE3, 17 -3° +52 -7+ 97 - 117 +
132 - 152 + 172 - 192 -2 AAFSHA?

@ -100 @-200 @ -30 @ -450 G 540

S5 ~
12 —32 52 — 7292 [1% + 132 — 152 + 172 — 192
=1-3)1+3)+GB-76B+7) +--+ (17-19)(17 + 19)

—2(14+3)-2(5+7)—2(9 +11) —2(13 4 15) — 2(17 + 19)

—2(14+3+5+---+17+19)

=-2Xx95x%20

= -200




